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We want to write 22 + 62 + 9 in factored form:
24+ 6x+9=(x+s) (x+1)
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2 4+6x+9=(xr+s) (v+1)
our the right side we get:
2246 +9=r+s) - (z+t)=22+(s+1)xz+s-t
So, weneed s+t =06Gand s-t=9
Factors of 9 are:

1-9=9
~1-(=9)=9
3.3=9

—3-(=3)=09


http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/x_s_time_x_t.pdf

Factoring Quadratic: 22 + 6z + 9

We want to write 22 + 62 + 9 in factored form:
2 4+6x+9=(xr+s) (v+1)
our the right side we get:
2246 +9=r+s) - (z+t)=22+(s+1)xz+s-t
So, weneed s+t =06Gand s-t=9
Factors of 9 are:
1-9=9
-1-(-9)=9
3-3=9and3+3=6
-3-(-3)=9
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We want to write 22 + 62 + 9 in factored form:
2 4+6x+9=(xr+s) (v+1)
our the right side we get:
2246 +9=r+s) - (z+t)=22+(s+1)xz+s-t
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Factoring Quadratic: 22 + 6z + 9

We want to write 22 + 62 + 9 in factored form:
2 4+6x+9=(xr+s) (v+1)
our the right side we get:
2+6z+9=z+s) (v+t)=22+ (s +t)x+s-t
So,weneed s i =6Gand s -t =9

Factors of 9 are:

1-9=9
-1-(-9)=9
3:3=9and 3 +3=0
-3-(-3)=9
s,t=3,3

So, factoring x2 + 6x + 9 we get:
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Factoring Quadratic: 22 + 6z + 9

We want to write 22 + 62 + 9 in factored form:
2 4+6x+9=(xr+s) (v+1)
our the right side we get:
2+6z+9=z+s) (v+t)=22+ (s +t)x+s-t
So,weneed s i =6Gand s -t =9

Factors of 9 are:

1-9=9
-1-(-9)=9
3:3=9and 3+ 3 =606
-3-(-3)=9
s,t=3,3

So, factoring x2 + 6x + 9 we get:
22+6x+9=(x+3) (z+3)
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